202312178 (B) I\f RE—F x YEFEEZE in KIR S=Fa17/\(RE—F BH=xX

JEGz| R HIE|€v7>| B F EX4A E3) Kig U=kl AL MmERAE Eikd
1l 3 514 (Do VAV 24.85 24.85
2l 1 5135 (2o AV R 27.67 27.67
3 2 51[#i& (Do VAV 29.48 29.48
4 5 515 (20 A AV 29.35 34.35
5 4 51|81 o S |NT 35.66 35.66
6] 2 52|81 | A |3ZFaTva oy - 15.99 15.99
7| 1 528 (4 A |3=FaTva Iy — 17.53 17.53
8| 4 52|81 |0 A |3ZFaTva oy - 17.63 17.63
9] 3 528 (4 A |3ZFaT7vatoy - 28.88 28.88
10 5 52|81 | A |3zFaT7vatoy - iR iR
11| 4 53|F# L |UZf=A 2 |1BARTIY 14.67 14.67
12 5 53|H L |UZfzA 2 18BXRTI7 15.66 15.66
13] 2 53| # L [Tf=A 2 (BXRTFTUT 16.24 16.24
14 3 53|H L |UZfzA 2 18BXRTI7 17.22 17.22
15[ 1 53| # L [Tf=A 2 (BXRTU7 20.29 20.29
16 1 55| AR |#KTE (BB HY) 2 18BXRTI7F 10.20 10.20
17] 2 55|R& [#kTE(EHhY) 2 (BXRTUT 10.24 10.24
18] 3 55| AR |HETE (BBHY) 2 1BXRTI7 10.28 10.28
19| 4 55| AR |#KTE (HEHY) 2|18BRTI7 10.31 10.31
20| 5 55| B [#KTE (BEDY) 2 18BXRTI7 10.52 10.52
21| 1 56(F# L [R3 2 |V vh39ELTY7 | R KI& K&
22| 2 56|F L |[RB 2 |V vh39ELTYT | R K& K&
23[ 3 56(F# L [R3 2 [Vvvh3vENTIT | R K& K&
24| 4 56|F L |[RB 2 |V vh39ELTYT | R K& K&
25 5 56|# L (X% 2 |V wh39ELTY7 | R K& K&
26 4 571 BF |[#FE(L&LSY) Q|BARTYT 10.84 10.84
271 5 571RR |#MF(L&LOY) S BERTUT 11.60 11.60
28[ 3 571 BF |[#FE(L&LSY) Q|BARTYT 21.07 21.07
29| 2 57|RR |MEF(L&LOY) S NBERTUT 2317 23.17
30| 1 57(BR [#F(LLDY) S |BARTUT 26.79 26.79
31 2 58| THE |ETE(GGlah) 2 |1BERTIT 12.11 12.11
32| 3 58| FdE [LTE (HdEhs) 2 1BXRTI7F 12.57 12.57
33[ 1 58| Fda [LTE (deh) 2 (BXRTUT 12.65 12.65
34| 4 58| FdE [LTE (Hdehs) 2 18BXRTI7F 13.70 13.70
35| 5 58| TdE |ETE(TGiah) 2 |1BERTI7 17.93 17.93
36| 3 59| T |BETE (VDY) 2 1BXRTI7 12.28 12.28
371 2 59| T |BETE (UM 2 |1BERTIT 12.52 12.52
38| 4 59| T |BETE (VDY) 2 1BXRTI7F 12.84 12.84
39 1 59| FFE [HETE(DHHY) 2 (BXRTUT 13.69 13.69
40| 5 59| T8 |BETE (VDY) 2 1BXRTI7F iR iR
41| 3 H1O|ERE |))— o3 VA= 11.07 11.07
421 4 H1O|BER |J)— X VA = 11.10 11.10
431 2 H1O|BERE |))— o VA= 1213 1213
44 1 H1O|BR |J)— 2 |33y 13.22 13.22
45| 5 H1O|BERE |))— X VA = R R




202312178 (B) I\f RE—F x YEFEEZE in KIR S=Fa17/\(RE—F BH=xX

46| 4 #10 |@fH|byTa YY) 79N TYT 13.44 13.44
471 5 #10 [BizE|byTa V)N TYT 1418 14.18
48| 2 #10 |@f-H|byTa V)79l TYT 15.43 15.43
49| 3 #10 [BzE|byTa V)79 ENTIT 15.83 15.83
50| 1 #10 |@f-H|byTa V)79l TYT 20.00 20.00
51| 2 8 |BH |hU 2 |V ENTIT 15.42 15.42
52| 1 #H8 |BH |hsU 2 |V vt TIT 16.35 16.35
53 3 8 |BH |hU 2 |V xvhvENTIT 16.91 16.91
54| 4 #H8 |BH |hsU 2 |V el TIT 18.29 18.29
55| 5 S8 |BH |hU 2 |V xvhvETIT 18.35 18.35




202312178 (B) I\f RE—F x MHEFEEZE in KIR STA47L/N(RE—F RHE

JEz| R IR €7~ B BRA E3) Kig U=kl AL MmERSE Eikd
1l 2 131|BHEH|IZAD ? |yt V- | R 29.28 29.28
2| 1 131|BH|IZAD ? Vvt V- | R 34.24 34.24
3| 3 131|BBH|IFAS @ [yt vie— | R K KA
4 4 131|BEH|XAD 2 [Vt uvr— K& K%
5 5 131|BH|IFAS o D e P s K& K&
6| 4 132|K*f |GAB(FH ) & |1suresLansur| R 23.98 23.98
71 5 132| K+t [GAB(#H D) & |1suFrsLansour| R 23.69 23.69
8l 2 132|K*f |GAB(FH ) @ |l1suresLansue| R 27.11 27.11
9] 3 132| K+t [GAB(#H D) & |1suFrsLansour| R 28.84 28.84
10| 1 132|K*f |GAB(FH ) & |1suresLansue| R 4501 4501
11| 5 135K+t [MARI(=)) @ [sursLanyr| R 25.32 25.32
12| 3 135| K%t [MARI(Z!)) Q |qay7osLanmur| R 27.81 27.81
13 4 135K+t [MARI(=!)) @ [svrsLanyr| R 2750 | 10 37.50
141 2 135| K%t [MARI(Z!)) Q |qay7osLanmur| R 4498 44.98
15[ 1 135| K%t [MARK=)) 2 |1su7vsLanour| R 46.80 46.80
16 3 B2 (g |Foh & Yz y=7 1y 11.56 11.56
17 2 ']2 |FN | Foh & [vzobaob =719y 11.93 11.93
18[ 1 B2 (@)l |Foh S |Yzubsuby=7 Ny 17.58 17.58
19 5 g2 g |Foh & [vzobaob =719y 15.11 20.11
20| 4 =2 |FIl | oA A YTk =78y 16.27 21.27
211 3 '3 |FN |75 & [vzobaob =719y 1455 1455
22| 4 =3 |FI |73y S |Yzubauh =78y 19.80 19.80
23| 2 '3 |FN |75 & |[vzobaob =719y 20.94 20.94
24| 1 =3 |FI |7 & YTy y=7 Ny 21.33 21.33
25| 5 #3 |#N |75 & [vzobaob =719y 23.45 23.45




2023%12A17H (B) INARE—F x YItE FEB&F in KBk #—Fo/\(RE—F B&Hx
JEz| R IR €7~ B EX4A E3) Kig U=kl AL mERSAE Eikd
11 3 290(#%E [(HLh 2 |oRy7unzE—| R 22.94 22.94
2l 5 290|#&H |HlL 2 [vRy7onzx—| R 26.14 26.14
3l 2 290|BkH |HL I 2 [vRy7unzx—| R 34.41 34.41
4 4 290|#&H |HL 2 [vRy7onzx—| R 28.79 | 10 38.79
5 1 290(# M@ |HL N 2 |oRyFunzE—| R 55.43 55.43
6| 4 291|@EO |FFY @ |F-AMUTYYIN-F 9.61 9.61
7| 3 291|EO |[F¥y L |[A-abrvyIn -+ 9.66 9.66
8| 5 291|@EO |FFY @ |H-AMUTYYIN-F 9.72 9.72
9| 2 291|EO |[F¥> 2 |[A-abrvyIn -+ 9.81 9.81
10 1 291|@E0O |FFY @ |F-AMYTYYIN- 10.47 10.47
1] 3 F2 [=E |[LyyR S |R—4—al)— 9.24 9.24
12 2 F2 =8 |[LysR S [R—F—a1)— 9.36 9.36
13| 4 F2 [=E |[LyoyR & |R—4—al)— 9.48 9.48
14 5 F2 =8 [LyoR S [R—F—a1)— 9.69 9.69
15 1 F2 (= |[LysR & |R—4—al)— 9.75 9.75
16[ 1 H4 | KB | RETW) 2 |YANTUNRE— 9.28 9.28
17 2 H4 | KB | REGTR) 2 |YANYTUNRE— 9.51 9.51
18 4 H4 KB | RET) 2 YA NTUNRE— 9.74 9.74
19 3 H4 | KB | REGTR) 2 |YANYTUNRE— 9.77 9.77
20 5 "4 | KB | RETVH) 2 YA NTUNRE— iR R
21| 3 6 | |LTsv d [F-aTUvIn -k 8.40 8.40
22 2 /6 |HhEE |LIsv & A=AV 8.54 8.54
23| 1 ®|6 |hE LT Q@ |[F-aTUvIN - 8.57 8.57
24 4 /6 B |LIsv & A=AV 8.69 8.69
25| 5 |6 e |LTsv d [F-a37ovIn -k 8.85 8.85
26| 1 BT (%@ (V7Y 2 [r-zb3U7yyIN-} 8.23 8.23
27| 2 H7 |l (VT 2 [F-zb3UFYYIN - 8.23 8.23
28] 4 BT (%@ (V7Y Q |#-ArYTYYIN-F 8.27 8.27
29[ 3 ®7 |BdE (YT L |[A-abFvyIn-+ 8.30 8.30
30| 5 BT (%@ (V7Y Q |#-ArYTYYIN-F 8.47 8.47
31| 3 ®9 |&H |LAU(SY) S |R—4—al)— 7.90 7.90
32| 2 #9 (2@ |LAU(SY) S [R—F—a1)— 8.13 8.13
33 5 #9 |&H |LAU(SY) & |R—4—al)— 8.19 8.19
34| 4 #9 (&A@ |LAU(SY) S [R—F—al)— 8.23 8.23
35( 1 #9 |8H |LAU(S™Y) S |R—4F—a1)— 8.48 8.48




2023512 A 178 (B) NARE—F x MtEFE&F in KB F—FU/NfRE—F RB#FRE

20. 22
-10. 47
9.75
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